
10/13/2016 RBL

RFB 74-17

DOT

Req 170733

DESCRIPTION QTY

Line Item Qty Unit of 
Measure Item Description CWS Fence & Guardrail CWS Fence & Guardrail

1 20 EACH 0.8 ET END REFLECTOR Two12"x12"YellowBlackChevrons 27.00$                                  540.00$                             
2 8 EACH 13.3 ET HEAD EXTRUDER Guard rail Part No.995A 925.00$                                7,400.00$                          
3 5 EACH ETP 1.1 WOOD POST 4063B 6"x8"x6' Treated Rectangular 45.00$                                  225.00$                             
4 10 EACH ETP ET2000 POST 33871A HBA #1 TOP 61.00$                                  610.00$                             
5 4 EACH ETP STEEL POST BREAKAWAY 14578G Style-POST #2-8 in System 54.00$                                  216.00$                             
6 2 EACH SOFTSTOP PART 105285G 5/16" x 2 1/2" Hex Head Bolt 1.00$                                    2.00$                                 
7 2 EACH SOFTSTOP PART 105286G 5/16" x 1 1/2" Hex Head Bolt 1.00$                                    2.00$                                 
8 3 EACH SOFTSTOP PART 11G 12/12'6/3'1.5/S Guardrail (12 81.00$                                  243.00$                             
9 6 EACH SOFTSTOP PART 11G 12/12'6/3'1.5/S Guardrail (12 81.00$                                  486.00$                             

10 1 EACH SOFTSTOP PART 15000G Post #2 6'-0" (SYTP) 63.00$                                  63.00$                               
11 10 EACH SOFTSTOP PART 15000G Post #2 6'-0" (SYTP) 76.00$                                  760.00$                             
12 1 EACH SOFTSTOP PART 15200G SoftStop Anchor Guardrail (12 200.00$                                200.00$                             
13 6 EACH SOFTSTOP PART 15200G SoftStop Anchor Guardrail (12 200.00$                                1,200.00$                          
14 2 EACH SOFTSTOP PART 15201G Anchor Post Angle 10" LG 17.00$                                  34.00$                               
15 10 EACH SOFTSTOP PART 15201G Anchor Post Angle 10" LG 17.00$                                  170.00$                             
16 1 EACH SOFTSTOP PART 15202G Ground Strut x 4'- 8 1/4" 45.00$                                  45.00$                               
17 4 EACH SOFTSTOP PART 15202G Ground Strut x 4'- 8 1/4" 45.00$                                  180.00$                             
18 1 EACH SOFTSTOP PART 15204 Guardrail Anchor Plate 65.00$                                  65.00$                               
19 1 EACH SOFTSTOP PART 15205A Anchor Post #0 325.00$                                325.00$                             
20 2 EACH SOFTSTOP PART 15205A Anchor Post #0 325.00$                                650.00$                             
21 1 EACH SOFTSTOP PART 15206G Anchor Plate Washer (1/2" Thic 12.00$                                  12.00$                               
22 1 EACH SOFTSTOP PART 15207G Anchor Keeper Plate (24 GA) 5.00$                                    5.00$                                 
23 1 EACH SOFTSTOP PART 15208A SoftStop HEAD 1,430.00$                             1,430.00$                          
24 2 EACH SOFTSTOP PART 15208A SoftStop HEAD 1,430.00$                             2,860.00$                          
25 2 EACH SOFTSTOP PART 3074G 3/4" Hex Nut 2.00$                                    4.00$                                 
26 6 EACH SOFTSTOP PART 3240G 5/16" Washer 0.50$                                    3.00$                                 
27 2 EACH SOFTSTOP PART 3244G 5/16" Hex Nut 0.50$                                    1.00$                                 
28 4 EACH SOFTSTOP PART 3300G 5/8" Washer 0.50$                                    2.00$                                 
29 39 EACH SOFTSTOP PART 3340G 5/8" HGR Hex Nut 0.50$                                    19.50$                               
30 4 EACH SOFTSTOP PART 3340G 5/8" HGR Hex Nut 0.50$                                    2.00$                                 
31 32 EACH SOFTSTOP PART 3360G OR 3.17DOT 5/8" X 1 1/4" HGR SPLICE BOLT 0.50$                                    16.00$                               
32 2 EACH SOFTSTOP PART 3361G OR 3.11DOT 5/8" Hex Nut 1.00$                                    2.00$                                 
33 1 EACH SOFTSTOP PART 3391G 5/8" x 1 3/4" Hex Head Bolt 2.00$                                    2.00$                                 
34 7 EACH SOFTSTOP PART 3500G 5/8" X 10" HGR. Post Bolt Post 3.00$                                    21.00$                               
35 4 EACH SOFTSTOP PART 3701G 3/4" Washer 0.50$                                    2.00$                                 
36 2 EACH SOFTSTOP PART 3717G 3/4" x 2 1/2" Hex Head Bolt 2.00$                                    4.00$                                 
37 2 EACH SOFTSTOP PART 3908G 1" HEX NUT 4.00$                                    8.00$                                 
38 7 EACH SOFTSTOP PART 4076B Offset Block 6 x 8 x 14" 8.00$                                    56.00$                               
39 4 EACH SOFTSTOP PART 4372G OR 3.12DOT 5/8" Flat Washer 0.50$                                    2.00$                                 
40 1 EACH SOFTSTOP PART 4489G 5/8" x 9" Hex Head Bolt 8.00$                                    8.00$                                 
41 2 EACH SOFTSTOP PART 4552G 5/8" x 15" All Thread Rod 6.00$                                    12.00$                               
42 2 EACH SOFTSTOP PART 4902G 1" WASHER 1.00$                                    2.00$                                 
43 6 EACH SOFTSTOP PART 533G Steel Post #3-#8 6' - 0" 48.00$                                  288.00$                             
44 20 EACH SOFTSTOP PART 533G Steel Post #3-#8 6' - 0" 48.00$                                  960.00$                             
45 1 EACH SOFTSTOP TL 3 COMPLETE UNIT 2,160.00$                             2,160.00$                          

21,297.50$                        


	For Posting

